Грамматика 5
[bookmark: _GoBack]Прочитайте текст и вставьте вместо каждого пропуска нужную грамматическую форму, выбрав её из четырех предложенных вариантов.
 
A Lawn Chair Pilot
Larry Walters wants to be a pilot. He wants to A____ an airplane. But Larry is not a B____ man. He doesn’t have an airplane. He has only a lawn chair.
Larty ties 45 big balloons to his lawn chair and then sits C____ the chair. The lawn chair goes up. For a few minutes everything is fine. The view from the lawn chair is beautiful. Larry can D____ houses and trees below him.
He is happy. He is flying! The lawn chair goes up very E____ . Larry is afraid. “I don’t want to go very high,” Larry thinks. “I want to go down a little.” With a small gun Larry shoots 10 balloons. Unfortunately, Larry drops the gun, and it falls to the ground. The chair goes up and up. “I’m flying in a lawn chair and I want to come down!”
Larry flies in the lawn chair for 45 minutes. Then the balloons begin to lose air. Slowly the lawn chair comes down, and Larry is back on the ground. Larry says, “For 45 minutes I was a pilot — the pilot of a lawn chair.”
 
A 1) drive 2) ride 3) fly 4) lead
B 1) rich 2) famous 3) misery 4) popular
C 1) down 2) on 3) into 4) in
D 1) watch 2) see 3) notice 4) look
E 1) far 2) high 3) slow 4) tall
 
Запишите в таблицу выбранные цифры под соответствующими буквами.
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